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C n
1 15 80
2 13 60
3 14 70
4 16 60
5 15 70
6 14 80
7 12 50
8 10 50
9 11 60
10 12 50
11 10 40
12 11 70
13 15 60
14 10 70
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0.19
3oy/(Sample 1) = 3 80 3(0.049) = 0.146

UCL(for any sample) =V’ + 3\/% & LCL(for any sample) = V' — 3\/%

UCL(Sample 1) = 0.19 4+ 0.146 = 0.34

LCL(Sample 1) = 0.19 — 0.146 = 0.04

Sl n C U= g oy = % 3oy | LCL | UCL | CCL
1 80 15 0.188 | 0.049 0.15 | 0.04 | 0.34 | 0.19
2 60 13 0.217 | 0.056 0.17 | 0.02 | 0.36 | 0.19
3 70 14 0.200 | 0.052 0.16 | 0.03 | 0.35 | 0.19
4 60 16 0.267 | 0.056 0.17 | 0.02 | 0.36 | 0.19
5 70 15 0.214 | 0.052 0.16 | 0.03 | 0.35 | 0.19
6 80 14 0.175 | 0.049 0.15 | 0.04 | 0.34 | 0.19
7 50 12 0.240 | 0.062 0.18 | 0.01 | 0.37 | 0.19
8 50 10 0.200 | 0.062 0.18 | 0.01 | 0.37 | 0.19
9 60 11 0.183 | 0.056 0.17 | 0.02 | 0.36 | 0.19
10 50 12 0.240 | 0.062 0.18 | 0.01 | 0.37 | 0.19
11 40 10 0.250 | 0.069 0.21 | 0.00 | 0.40 | 0.19
12 70 11 0.157 | 0.052 0.16 | 0.03 | 0.35 | 0.19
13 60 15 0.250 | 0.056 0.17 | 0.02 | 0.36 | 0.19
14 70 10 0.143 | 0.052 0.16 | 0.03 | 0.35 | 0.19
¥ 178 | 2.9235
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